Third / Past Conditional

If an apple hadn't fallen on Newton's head, he wouldn't have discovered
the law of gravity.

There can also be a present consequence :

If an apple hadn't fallen on Newton's head, we wouldn't know about
gravity today.

Write some sentences for the following events :

1. Prehistory — The invention of the wheel

2. July 21, 1969 — The first man on the moon
3. 1593 — The invention of the thermometer
4. 1937 — The jet engine

5. 1943 — The first computers

6. 8 May, 1886 — The invention of Coca Cola



